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What do [ need to be abke to :'h—am
di? I: Equalty: two expressions that. have. the. same. velve

Equation: a mathematical statement that two things are equa
| Equak: represerted by =" symbel — means the same
|| Solution: the set or value that satisfies the equation
¢ Fom e e eqaders I s den i s . s by the previts opeation (The opposte opeio)
: the. operdtion that undoes wnal was done revious operation (The opposite. operation
* Understord ke ond unke tenms [l Tem:a swnglepnumber or variable ‘ ' e
* Smpkfy debrac expressons || Like: varidbes that are the same are ke’
Il Coefficient: o mutiplcative factor n front of a variable eg 2x (5 & the coefficient, x s the varable)
I Expre,sgm a maths serterce with a mnimum of two nurbers and at kast one math operation (no equak sign)
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: By the end of this unit you shoud be able
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I EQUGH_L{ ] 3 g || Fmt Famlies Use a bar model to dsplay the relalionships between terms and rumbers y
| 2+14-=5+H+0 =5 |l 13 7 . 14
| %3I|§ : | '
I gs |l [ 5
| 3 = II | | I -
| g2 |l : g RS
| sl 20 x 0 t ot 1t
I || - g ) L1+t u g—t—t {
5:7-20 201 |q | xt10- 14  H—10-x 3xt-y y-3-
! I 75-20 20- E 0+x-4 K-x-0 % -y gt
_________________ 1 _______'_____________________
e o L T T e T T T T T T T T T T T -
| Solve one step equations (+/-) ey istst - Solve one step equations  x/+) |
: x4 I 555 5 Dat gt yguioonton
| x+4] =59 . | 1 Dontt forget uou knowt how |l s ——— to use function machines |
| | touse forctionmachines | | 4 | | I |
| x+43-54 |l e 5= x4 —>f |
x5 . ‘ . x=—>+42 =5 || —— |
| S 5 /I oo f 7 |
A |l 5x4-f *4 |
Lo e ___ J
. e . T T T | I
| Like and unlke terms |Eguwabnce Collecting fke terms = symbol
| Like terms are those whose variables are he same | Check equvaence by substitution The = symbol means equvdert to
I O il 3Q e ke loms | eqm10 It is used to identify equivalent. expressions
ba 5m AX Am Zm — 3m Colecting lke terms
the varidble & ol ;OIO J:Kq [fx;{\g] t7ii |2]()—J2>8'3) Orly lke terms can be combined
the same S - 40

dx +Hh —x +10b
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Equivalent expressions

* .; Q  aeuwnlke terms
Repedt this with various vales for m to check
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| the variables are I

| NOT the same |

| |

| Examples and non-examples I LT T T 1] X+ b

| |

| | 2Axdm Common misconceptions

! ! 1

' | D:‘} 4m Q3 dy = by v 3
| | \

l ! | N
. | 7m=3m ey e e e s
' ' [ [ 1]

I Mote here ab and ba are commutative operations, so are stil ke terms I

| S S | 4m

St Bede’s

Roman Catholic High School




Mathematics - Integers & Decimals

Heuwords

What do | need to be abke to do?

Bg the end of this unit you should be abe to: QOpproximate: To estimate a number, amount. or total often using rounding of numbers to make them egser to calculate with
Understand place valve and the number Integer: a whoke number that s postive or negative
system nehdng decmals Intervat: between two ponts or vaves

*  Understand and use place valve for decimds, Median: O messure of central tendency (midde, average) found by putting al the data valves in order and finding the midde
ntegers and measures of any size wikie of the. Kt
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| » Order number and use a rumber ine for :
: Sl o | | Place holder: We use 0 as a place. holder to show that there are none of a particular place in a romber
| | 1 Place valve: The valve. of a digt depending on tts place n a number  In our decimal number sustem, edch place s 10 times
| |1 biager than the piace to its right
| |1 Range: Tre diference between the largest and smalest numbers n a set
| |1 Sigrificant figure: 1 digt that ges meaning to a number The most snificant digt (fgure) n an integer is the. number on
| : the eft The most significant digit in a decimal fraction is the first non-zero number after the decimal pont
|

1

decimas,

* e lhe symbok =, #, <, >

* Work with fermnating decimals and their
correspondng fractions

* Round numbers to an appropriate accuracy
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| Negative: Ony number less than zero, wrtten with a minus sign :
| |
| I
| I
| |
*  Descrive, nterpret and compare data : :

dstributions ushng the median and range -3 |
i ot |_=========================—_—_—_—_—_—_—_
| Inteer Piace Vabe I Intervals on & rumber Ine |
| | e re—re—r—> I
| . 0 I | ' ' : . . . Duide the difference by the rumber of nlervds (aaps) |
[[#]T|o]|u]|T]o]|u]|T]|o|n|T]0 |: 0 20 40 60 K0 100 Eg 100+5-20 |
| s|1|afslo]3]|3|of2|o||*——"o —m—————— o — — — — |
| /} T S S S S S S S S S S S S E S S S EE S 1
| Plcchotier i Rounding to the nearest power of ten ¥ tre nurber s hafuay betieen ve ‘roundup |
IThrae, ko, o Fundred and fory eght mien || 5495 to the nearest 1000 5475 to the rearest 100 RA75 to the nearest 10 :
thity thvee thowsand and trenty nne N r - — ' . i = |
:Ihigm 000,000,000 N 1 6000 400 ' 70 1 I
1 milon | 000,000 N _____ |
—————————————— W___________ﬂr_f_________________j

—————————————— 1| RaNge e of the vaes I' Median  77e e vate
| Compare nteers using <>, = % | oo ! — |
Py - Diference betieen the biggest ond smalest | | Exampk | Medon: pttheinorder 3 4 8 9 12 |
| e () 0o .y ¢ g8 20 B fndtemddenmier 5 4 ®9 0|
— 300 000 000 Three billon Emg& Btggest vae — Smalest vabe I I
| = equdto | (6% I B 3-4 I| Exampk 2 Medan: put the in order |
| *= nat EQUG‘ {0 Sixthousand and eighty <.} 68000 || ’ |I B0 154 148 37 Idrﬁﬂﬁ 60 |
- - ——-—-—————————" |:Eiﬁg_i__—q::::::::ll 57 160 5% There are X midde numbers I
L Find the midpoint 52 |
ones P terths hundredts | |
b ° I:::::::::::::::::::::
© |I Decimal intervals on a nomber ne |
' ' ' : | Ore whoke spit nto 10 parts mekes tenths = 0 |
0 ones, 5 tenth and A hundredths | | Ore. terith spit info 10 parts mekes hondredths = 001 |
0+«01+01+01+01+01+001+00l I| ( . T T . ' r T r | | |
* :Oéfm | : O 010203040506070809 1 :

_________________________ |
Ca T T T T T T T BN B s e s e e S — |
Comparing decimaks Which the largest of 0.3 and 0.237 I 0 002 o004 006 008 01 :
|
0.3>0.23 | T T T T T T T T T |
Ores ¢ Tenlhs | bundredits “Ihere are more cowners 1 the furthest 0 02040608 12 14 16 18 |
| 1 2

= colmn to the kft” L I

0.1

Round to | significant figure

370to Isignificant figure is 400
37 1o I signfficant figure is 40 Round to the first non

L]
0.1
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I 030 |  Compaing the vaes beth with :
| |
| |
| |
| |
| |

he. mbey of decimal
(nes o Terths | hundredihs 023 tploi,ﬂen;ﬁsr;nthre,rowaj tlrom

compare. the. number of tenths

o1 oot 001 o bt 3710 |§|gn|ant figure |9.4 2ero rumber
) S 037 to I sgnfcart figure s 04
e __ 1100000003710 | sonfeart figwe & 0000000+ |
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